A, NON—IMPACT RESISTANT GLAZING {DETAIL W) — .090™
MINIMUM SS8 GLAZING IN MOLDED FRAMES SCREWED
TOGETHER WATH A MINIMUM OF (10) #B8x1" SCREWS ((3)
ALONG EACH HORIZONTAL LEG AND (2) ALONG EACH
VERTICAL LEG) FOR GLAZING WITH A MAXIMUM LENGTH OF
“16.75" OR {1D) #8x1" SCREWS FOR GLAZING WITH A
MAXIMUM LENGTH OF 39" INSTALLED IN TOP OR .
INTERMEDIATE SECTION (WTH OR WITHOUT DECORATIVE

13-GA HORIZ ANGLE—
13 GA FLAG ANGLE—

16 GA MIN HORIZim

SEE U—BAR NOTE ON SHEET
2 FOR :Im&m INSTALLATION

REMSIONS

mcvmox.:zm STRU 0._._.._ xm
MRE 5/10/06

-m AGDED SHORT PANEL

INSERTS) MEETS UNIFGRM .STATIC DESIGN PRESSURES TRACK. :
SHOWN ON THIS DRAWING, -GLAZING SHALL HAVE A m\dmﬁtm\m ' . Ip3-ADDED IMPACT
MAXIMUM HEIGHT OF 13.75". GLAZING 15 NOT IMPACT LAG ‘SCREWS. + RESISTANCE 10 DDOR.
RESISTANT AND.DOES NOT MEET THE REQUIREMENTS FOR (MIN 3 AS  JADDED B JAMB BRACKET
PR ASOTVIELY DETAILS TONS. SEE OETAL W ON SHEET 2 SHoWN) .= 18 GA OPERATOR STILE FACTORY |LIAT 2° LOCATION. MODIFiED
16 GA MIN VERT=| 2 b ADHERED TO CENTER OF TOP SECTION- PINOTE 9 TO STATE THAT
2. IMPACT RESISTANT GLAZING {DETAIL K) — IMPACT TRACK. : 20 GA END CAP ".omm_%wﬂﬂmm NOT IMPACT
RESISTANT GLAZING -SYSTEM MAY BE INSTALLED IN TOP e e oo
OR INTERMEDIATE SEGTION. (WITH OR WITHOUT DECORATIVE 5/16x1=5/8". LAG— A ;
INSERTS). GLAZING SHALL BE 1/4° MAKROLON—AR SCREW AT EACH P4 MODIFED. JAME
POLYCARBONATE OR EQUAL GLAZING SHALL HAVE A JAMB BRACKET RACKET SCHEDULE FOR
MAXIMUM HEIGHT OF 15.2t" AND A MAXIMUM LENGTH OF . ..l_ AT OPTION. ADOED LHR
50.08" SCREWED TOGETHER WITH A MINIUM OF (10) #8X1” 1/4-20x9 /16" TRACK—] = TRACK DETAIL SHEET 2
SCREWS ({3 ALONG EACH HORIZONTAL LEG AND (2) BOLT ANG 1/4—20 HEX. ' ! |orT 4417 /08
ALONG EACH VERTICAL LEG). GLAZING IS IMPACT NUT AT EACH JB JAMB %
RESISTANT AND DOES MEET THE REQUIREMENTS FOR BRACKET LOCATION ; F 5. ADDED [MPAGT
WIND~BORNE DEBRIS REGIONS. GLAZED SECTION . ! RESISTANT GLAZING.
REQUIRES REINFORCEMENT BRACKETS ATTACHED TO & £ET . IADDED. CONCRETE DETAIL
U—BAR ON UPPER INTEGRAL RIB (SEE DETAIL G SHEET 2), : YR SHEET 2. ADDED TEXAS .
18 GA J-STRUT SCREWED TCOLOWER INTEGRAL.RIE OF LICENSE NUMBER TO. TITLE
SECTION AND OPERATOR STILE TO BE FACTORY BLOCK. CHANGED LOUVER
INSTALLED. INSTALLER SHALL FIELD INSTALL {1) . = NOTE. ADDED HIGH UFT
1/4—14x7/8" SELF DRILLING CRIMPTITE SCREW TO ATTACH P . [ |AND_RODF PITCH TRACK
THE J—-STRUT TO THE INTEGRAL .RIB AND OPERATOR STILE ! NOTE,
AT THE CENTERLINE OF THE DOOR PER DETAIL F-ON i 7 _ RT 7/22/08
SHEET 2. STIFFENED—
._w»mm.muhﬁﬁm | P8 UPDATED TIILE BLOCK
3. VINYL OR WOOD DOOR STOP NAILED A MAXIMUM OF &° SEE SCHELOULE FOR A | [eRT a/28 /10
0.C. MUST OVERLAP TOP AND BOTH ENDS OF FANELS QUANITY, . LOCATION, -3 = A
MINIMUM 718" TO MEET NEGATIVE PRESSLRES. AND TYPE . L . .wmcmhuwwm%u G
4. KEY'LOCK OR SUOE LOCKS REQUIRED. . . 1 HACKER NOTES
5. SECTION SHALL BE CONSTRUCTED WITH FOAMED IN KEY LOCK OR SLIDE LOCK— 8¢ s/z
TH END N
PLACE POLYURETHANE FOAM INSULATION, CHEMICALLY mcm:uwzrwnmmmmm:o__mzﬁ_..mw . REV F — UPDATED.
BONDED TO 30 GA MINIMUM FACER STEEL AND A CLARITY  MIREVISION -FROM NUMERIC
POLYLAMINATE BACKER, OR- 32 GA STEEL BACKER. END > . < [To ALHPA
CAP TO HAVE A MINIMUM 1.17 DERTH, G T.C 9/29/20
6. THE DESIGN -OF THE SUPPORTING STRUCTURAL NOTE: (4} -SECTION " . EV § — ADDED. NOTES
ELEMENTS SHALL BE THE RESPONSIBIUTY OF THE. S0UD DOOR_SHOWN. : \SHEET r FOR TOI
PROFESSIONAL OF RECORD FOR THE BUILDING OR SEE SHEET 2 FOR . el W 3/26/21
STRUCTURE AND IN ACCORDANCE WITH CURRENT BUILDING c.lmmmx.%@?ﬂo%;@h o o
CODES FOR THE LOADS USTED GN THIS DRAWING. : : £V H-— UPDATED.
. _ _ _ SECTION QUANTITIES DRAWING FOR TDI
7. DDOR JAMB TO BE MINIMUM 2xE STRUCTURAL GRADE AND SEE MOTES 1 ~ | ; — . . . [ 04/20/2021
LUMBER.. REFER TO JAMB CONNECTON SUPPLEMENT FOR _AND 2 ON THIS » NOTE: POST SYSTEM IS TO BEN__ . _
ATTACHMENT TO SUPPORTING STRUCTURE. SHEET FOR GLAZING 3 INSTALLED ON THE CENTER
. . OPTIONS. ' LINE OF THE DOOR.
8. LOUVER OFTION (DETAIL )) — 08" MINIMUM LOUVERS IN h p SEE WINDLOAD POST
MCOLDED FRAMES, 18"¥13.9" {BLO=15 3 /2"X 10 ﬂ\m.v — INSTALLATION INSTRUCTIONS.
SCREWED TOGETHER WITH A MINMUM OF {12} #Bxi" =
SCREWS ((3) :ALONG £ACH HORIZONTAL LEG: AND (3) SUPERIMPOSED DESIGN PRESSURE
ALONG EACH VERTICAL LEG). LOUVERS ARE NOT IMPAGT LOADS ON SUPPORTING STRUCTURE
RESISTANT AND DO0. NOT MEET THE REQUIREMENTS FOR .
NSTALLED it THE BOTTOM SECHON. LOUVERED, StcoN 000K | DOOK | LOAD EAGH | SLAB AT EACH POST
NSTA M - - ) X JA
REQUIRES OPERATOR STILE 70. BE FACTORY INSTALLED AT JAMB BRACKET "SCHEDULE WDTH | HEIGHT | JAMB (PLF) |  LOCATION (LBS)
THE CENTERLINE OF THE DOCR. . NG OF JAVE ] LOCATION OF CENTERONE OF JANB 150" -L=0 +126.1/-167.3 +1237.5/-1381.9
_._mmo%_._w.ﬂ. mmw%.mm BRACKETS ﬁwﬁWx BRACKETS MEASURED FROM BOTTOM TV [Te " |[+126.0/-167.3 +1406.5/-1570.3
HEIGHT | SECTIONS e ac yamp)| ! OF TRACK (ALL DIMENSIONS £ 27 o
70" 4 5 a R" (JB), 13" (Ql), 25—-1/2" (UB), 45—1/4" {Q), 63" (JB) MOTE:
70" 4. 5 FAT [2" (4B), 10" (JB), 25—-3/4" (JB), 42" (UB), B3—1/4" {J8} {JB) FOLLOWING DIMENSION DENOTES SLOTTED- JAMD BRACKET
oo 3 5 ol B (), 13 (Q), 25 (JB), 3& (dB), 47174 (@), 67" (al) ATTACHED TO TRACK WITH 1/4-20x9/16" TRACK BOLT AND NUT.
g-0"] 5 § FAT 2" (48), 10" (B), 21~3/4" (JB), 29-3/4" (JB), 48" (JB). 66" (JB) (Q) FOLLOWING CIMENSION DENOTES QUICK INSTALL JAMB BRACKET
> 80" /HIGH UFT/ROOF RITCH SEE NOTE BELOW. INSTALLED IN BUTTERFLY SLOT. NC ADDITIONAL HARDWARE ‘NEEDED
TO ATTACH TO TRACK.
ALL DOORS WITH HIGH LIFT AND/OR ROOF P(TCH REQUIRE USE OF
CONTINUOUS ‘WALL ANGLE. SEE .SUPPLEMENT TRACK CHART FOR
DETAILS.
STATIC PRESSURE RATINGS APPROVED SIZES SCALE: N.T.S. SIZE: A
DESIGN {PSF): +30.00/-33.50 MAX WIDTH: 18'-0" DATE NAME.
>l TEST (PSF): +45.00/-50.25  |MAX HEIGHT:  8'-0" [DRAWN | 3/3/06 GRT
¥ wq\ 262 | T RAaE DooRe” IMPACT/CYCLIC RATED (YES/NO): YES [MAX.SECTION MEIGHT: 217 |CHECKED| 4/20/21 TLC
JUNFENG GIAN - _ )
o ST29 MIPHORA AVE MODELS 5120/9100/9605 SHEET 1 OF 3
TEXAS PE 130813 A D_Smno%umﬂﬂ %Ua%%ﬂmhwx_ocomom no.: ) . . . - — . . .D”>§Z.® PART ZO. .mm{.....
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR PENSACOLA, FLORIDA -32514. WINDLOAD SPECIFICATION OPTION CODE 02386 319024 H
VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS. COMPLES. WITH THE REQUIREMENTS OF ISC/IRC 2018 (850) 474-9830 : ML




13 GA ADJUSTABLE TOP
FIXTURE ATTACHED TG
PRE-PUNCHED HOLES
IN BOTTOM OF U-BAR
WTH (2) 1/4-14x5/8"
CRIMPTITE SCREWS

WITH THE (8) PRE—PUNCHED
HOLES EACH END FACING UPWARD
AND ATTACH THRU END CAP AT
EACH END WITH (2) 1/4—14x7 /8"
SELF DRILLING CRIMPTITE SCREWS
FOR STANDARD TRACK AND (3}
1/4—14x7 /8" SELF DRILLING.
CRIMPTITE, SCREWS FOR LOW
HEADRQOM TRACK {2 OF WHICH
-ARE USED TO ATTACHED THE TOP
BRACKET AS SHOWN).
PLACE- U-BAR OVER INTEGRAL
.RiB WITH THE (8) PRE—PUNCHED
HOLES. EACH END FACING LIPWARD
.AND ATTACH THRU END CAP AT
EACH END WITH (2) 1/4-14x7 /8"
-SELF DRILLING CRIMPTITE SCREWS:
'EXCEPTION: . U—BAR PLACED ~
OVER TOP RIB: ON ‘THE BOTTOM
SECTION SHALL OMLY BE.
ATTACHED THRU END CAP AT
EACH £ND WATH (1) 1/4-14x7,/8"
SELF DRILUNG CRIMPTITE SCREW

13 GA ROLLER SLIDE ATTACHED TO
PRE-FUNCHED HOLES IN TOP OF U-BAR.
WTH (2) §/4—1455/8" CRIMPTITE SCREWS.
USE VIEWNG HOLE IN SLIDE TO ENSURE
PROFPER ALIGNMENT OF ROLLERS"

15 BA HINGE ATTACHED
WTH {4) 1/4-14x5/8"

CRIMPTITE SCREWS (2 OF ‘
WHICH ARE FACTORY i
ATTACHEDY

QF THE U-BAR

_NQTE: DUE TO CLEARANGES
REQUIRED TO INSTALL SCREWS AT
THE ENDS OF THE U-BARS, ALL
U~BARS SHALL BE INSTALLED ON.
SECTIONS PRIOR TOQ. INSTALLING
RCLLER SLIDES-AND TGP FIXTURE
ON THE U—BARS. -SEE
ATTACHMENT NOTES ON THIS
"SHEET.

PLACE U—BAR OVER INTEGRAL
RIB.AND ATTACH WITH (2)
1/4=20%5/8" CRIMPTITE SCREWS
THRU PRE—-PUNCHED HOLES AT
EACH NTERMEDIATE HINGE
LOCATION (t THRU FLANGE OF
U-BAR AND BOTTOM HINGE LEAS
AND 1 THRU WED OF U—BAR AND
INTEGRAL RIB OF SECTION)
EXCEPTION: AT ALL LOCATIONS
REQUIRING ‘A STRAP BRACKET, {1)
1/4—14x7/8" SELF DRILLING
CRIMPTITE SCREW WILL BE USED.

2" NYLON
STORMGARD ROLLER
WITH 4-1/2" STEM

18 GA HINGE ATTACHED.
WTH (5) 1,/4-20x5/8"
CRIMPTITE SCREWS -AND (1)
1/4—14x7/8" SELF DRILLING
CRIMPTITE SCREW (2 OF
WHICH ARE FACTORY .
ATTACHED, 3 OF WHICH ARE oy
FIELD INSTALLED INTO TOP
LEAE, AND 1 OF WHICH IS
FIELD INSTALLED THRU
PRE—PUNCHED HDOLE. IN
U-BAR)

12. GA BOTTOM BRACKET
FAGTORY ATTACHED WITH
{3y 1/4-14%5/8"
CRIMPTITE SCRI

PLACE U-BAR OVER INTEGRAL RIB
WITH ‘NOTCH DOWN TG CLEAR
BOTTOM BRACKET AND ATTACH
THRU END CAF AT EACH END
WITH (1) 1/4—14x7/8° SELF
CRILUNG CRIMPTITE SCREW AS
SHOWN™ AND USE (1)
1/4-14x7/8" SELF DRILLING
CRIMPTITE. SCREW ACROSS. THE

‘FOR IMPACT RESISTANCE, f
BOTTOM BRACKET MUST BE
SCREWED TO THE BOTTOM
U-8AR WITH

BOTTOM OF THE BOTIOM U—BAR-
e e S ews,  2elAL D AT EACH PRE-PUNCHED.HOLE AT
SEE IMPACT BOTTOM BRACKET EVERY HINGE LOCATION. USE (1)
DETAIL THIS SHEET. 1/4—20x5/8" CRIMPTITE SCREW

AT ALL OTHER PRE—PUNCHED
HOLE LOCATIONS,
o g ey
~ % . -‘
A 2
S el -4
7 JUNFENG QIAN "%
e ST sean
4 uowv L_moml_m & mﬁ\..\\
RN I
N R JCENSE. &
.' pmlpw...- ...... m.ﬁkg ‘\\
(?. A ;rf ONALY ="
| . Q.ps M
4 32/25-|
JINEENS GIAN
. 5729 AMPHORA AVE
MEKINNEY, TEXAS: 75070
TEXAS PE 130813
PROFESSIONAL ENGINEER'S SEAL PROVIDED- ONLY' FOR
VERIFICATION OF WINDLOAD -CONSTRUCTION DETALS.

FLACE U—BAR -OVER INTEGRAL RIB

LOCATED ON THE' mo....ﬁn_r_ _.n_nbzmm.

13 GA ADJUSTABLE
TOP FIXTURE

LOW HEADROOM TRACK
DETAIL A

USED ‘ONLY ON IMPACT
GLAZED SECTION — 1
GA REINFORCEMENT
BRACKET ATTACHED
WITH {4} 1/4=14x7/8"

LAG

ATTACH BOTTOM BRACKET

SELF BRILLING HEX
CRIMPTITE SCREWS mn
THROUGH -BOTH
mx_?ﬂ.nm.w AND C!mme
DETAI. J 10

1/4—14%7 /6" SELF DRILLING.
CRIMPTITE SCREWS:

(1) 1/4~14x7 /8" SELF DRILLING CRIMPTITE
SCREW AT GENTER. LINE CF DOOR THRU ™
J-STRUT & OPERATOR BRACKET.

NQIE:, J-STRYT & SCREW ONLY. REQUIRED
ou mmTNmu ‘SECTIONS. SEE NOTES § & 2
5 1

(3) 1/4=14x7/8"
SELF DRILLING
CRIMPTITE SCREWS

ORILLING

STRAP

BRACKET

5/18"

HITCH PIN ..mwmuw_o

(2) 5/16—12:1"
SELF- DRILLING
SCREWS W/ '5/16
FLAT WASHERS:

DETAIL_F

. \\./.A|>_.cz_zcz
\  POST

1/2-13x3—1/2"
HEX BOLT & NUT-

{4}y 5/iB—12:%"
SELF DRILLING.

HEADER

HEAQER LOCK
BRACKET

(4) 5/16xi~5/8"

{1) 1/4—14x7 /8" SELF

SCREW EACH SiDE OF
STRAP BRACKET (ONLY

/ REQUIRED ON IMPACT
GLAZED ‘DOOR)

TOP PLATE
EXTENSION

& 5/16—12x1"
SELF DRILLING

ScRews: SEREWS
5/18—-18x2—1/2" NE :
BOLT & NUT INNER (5) SECTION DCORS

BOTTOM- U-BAR WITH (2)

{4) SECTION DOORS
WITH {5) 3", 20 GA,
80 KS| U—BARS
LOCATED OVER
INTEGRAL RIBS: AS

SHOWN |/I
-

IMPACT BOTTOM BRACKET

5 o

CRIMPTITE

Ll

2500 PS} MIN
CONCRETE:

SLAB- AT EDGE 8" MIN _
"EDGE . a
/ PISTANCE : d
e - —~
ONCR DETAI
. _ _

1. ALL U-BARS SHALL BE PLACED OVER INTEGRAL RIES' AND
ATTAGHED THRU PRE—PUNCHED HOLES WITH (2) 1,/4-14x5 /8™
CRIMPTITE SCREWS AT EACH INTERMEDIATE MINGE LOCATION, (2) [
1/4—14x7/8" SELF DRILLING CRIMPTITE SCREWS AT EACH END
CAP {EXCEPT BOTH U~BARS ON BOTTOM SECTION — SEE DETAL ]
B AND D THIS SHEET), (2) 1/4—14x5/8" CRIMPTITE SCREWS
APPROXIMATELY MIDWAY SETWEEN END OF DOOR AND .
INTERMEDIATE HINGE LOCATION, AND (1) 1/4~14x5/8" CRIMPTITE
SCREW ARPROXIMATELY 8™ FROM EACH END. THERE SHALL BE
A TOTAL.OF {20) SCREWS ATTACHING EACH U—BAR EXCEPT
BOTH U-BARS ON BOTTOM SECTION SHALL HAVE A TOTAL OF
(18) SCREWS EACH.

2. WITH THE EXCEPTION OF THE .(8) PRE—PUNCHED HOLES IN
THE TOP OF EACH END -USED FOR- ATTACHMENT OF THE ROLLER
'SLIDES AND THME {8) PRE~PUNCHED HOLES IN THE BOTTOM .OF
EACH ENG USED FOR THE ATTACHMENT OF THE TOF FIXTURE
AND UNLESS NOTED OTHERWISE ON THMIS SPECIFICATION DRAWING,
ALL PRE-PUNCHED HOLES IN ALL U-BARS SHALL BE ATTACHED
TO THE DOOR WITH. 1,/4—14x5/8" CRIMPTITE SCREWS,

3. 20 GA U~BARS SHALL BE STAMPED "34" APPROXIMATELY 8"
FROM EACH -END.

WTH (8) 3%, 20 GA,
80 KSi U—BARS
LOCATED OVER
INTEGRAL RIES AS

SHOWN

I

REVISIONS

b

e

(]

Wayne

Dalton.

GARAGE DOORS

A DIVISION OF OVERHEAD DOOR COR?
3355 ADDISON DRIVE:
PENSACOLA, FLORIDA 22514

(850} 474—28890

STATIC PRESSURE RATINGS APPROVED SIZES™  [SCALE: M:T.S. SIZE: A
DESIGN (PSF): +30.00/—-33.50 MAX WIDTH:  18'-0" DATE NAME
TEST (PSF): +45.00/—50.25 MAX HEIGHT: 8-0" [DRAWN | 3/3/05 GRT
IMPACT/CYCLIC RATED (YES/NO): YES [MAX SECTION MEIGHT: 21" {CHECKED] 4/20/21 e

MODELS 5120/9100/9605 _ SHEET 2 OF 3
. . - — - . DRAWING PART NO. | REV.
WINDL.CAD SPECIFICATION OPTIOGN CODE 02386 319024 H




#B8x3/4" MIN STAINLESS
SCREWS WITH STAINLESS
BACKED RUBBER WASHERS .
3~1/2" O.C. MAX SO

1/8" BEAD GE
ULTRAGLAZE
SSG4000AC

T s ——NON=STRUCTURAL DECORATIVE
CUTER WINDOW TRIM

.

) KI/{». POLYCARBONATE

STRUCTURAL
SEALANT OR
EQUIVALENT:

FACER STEEL

NOM—STRUCTURAL
DECORATIVE INNER:
WNOOW TRIM

DETAIL

e B Ceenan e
.. JUNFENG QIAN 7

L5 R

JUNFENG GIAN
5729 AMPHORA AVE
MCKINNEY, TEXAS 73070,
TEXAS-PE 130813

PROFESSIONAL ENGINEER'S- SEAL PROVIDED ONLY FOR-
VERIFICATION.OF WNGLOAD CONSTRUCTION BETALS,

EXTERIOR
FRAME

(STATIC RATE

1/8"

080" (MIN} ALLIMINUM
LOUVER:

INTERIOR FRAME

3" SELE—TABPING
CREW

PLASTIC FRAME

DETAIL I

BEAD OF SOSTKK,
1100 OR EGUIVALENT

——.090" ANNEALED SSB
. GLASS (MIN}
LT ] T

|

REVISIONS

‘Wayne
;Dalton.

GARAGE DOORS.

A DIVISION OF OVERHEAD DOOR COR
" 3395 ADDISON DRIVE
PENSACOLA, FLORIDA 32514
(850) 474-9830

SIZE:

STATIC PRESSURE RATINGS AFPROVED SIZES  |SCALE: N.T.5. A
DESIGN (PSF): +30.00,/~33.50 MAX WIDTH:  18'=0" DATE NAME
TEST (PSF) +45.00/-50.25 MAX HEIGHT:  8—-0"  |DRAWN 3/3/08 GRT
IMPACT/CYCLIC RATED (YES/NO): YES |MAX SECTION HEIGHT: 21" _Q._mnxmo 4/20/21 e

MODELS 5120/9100/9605 SHEET 3 OF & _
— DRAWING PART NO. | REV.
WINDLOAD SPECIFICATION OPTION CCDE 0236 319024 H




